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Il "him her them' is written as de ke

11} |‘|

ey F wihn
oo num wny 18 % ||. i

ne Lk ir el e t hue
sh fu Ik, then ‘do’ is wrilten as
|A) e H) fu

) 1k () s

Which one of the following is
of Cabinet Miasion ?

(A) Lord Patnck Lawreno
(B) Sir Stalord Crippa

[C) A. Y
(D) Mount Batten

nod & member

Alexander

With respect to armed police, an Inspector/
Sub-inspector commands a

[A) Section
{C) Battalion

(B) Platoon
(D) Company
From the given answer figures, select the

one in which the guestion figure is hidden/
embedded

]
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The HDI ranking of India a&rdmg to 2020
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' P it
L, % Thim her them' de ne  KE 1.’-':
dao him why % ‘ne [k ir' , ‘are they do Lol

fu 1k foren wm &, @ do’ ® fee s # 1

(B) fu
(D) i

{A)] me
_AC) 1k
4 frcfefaa i e e e | s =LK
() =0k e =itn
By wrd fem
iC) u. . T
(D) wrde dza

wE g amam, v Fifves [ niheE

3.
o mEEEwmE
{A) = (B) =g
iC) wefera D) =
4. i T st A A, w st g faed
wrpfa gh & fenfea ¥

(A) d
IC) b

B8] a
) ¢

5. 2020 1AW vadad. i ¥ wER wRe

UNDP HDI report is
(A] 136
c) 131
{hut of 6 boys and 4 girls, a group of 7 is o be

formed, In how many Ways can 1.hi_a. be done
if the group is to have a majority of ioys.

(A} 120 (B} 90
{C) 100 D) 8O

(B) 130
(D) 182

Whichof the following is a certification

mark employed on agricultural
products in India by the directorate

of Marketing and Inspection ?

(A} AGRMARK (B) AGMARK

(C) AGPMARK () None of the above

{,f’ﬁﬁﬁ.m.fﬁﬂt m

&) 136 B} 130

(C) 131 D] 182
6. 6ok s esfedi A T e aE b
" g o et o e & af2 g 6 v
. o S A

IA) 120 (B] 90

(C) 100 (D) 80
T.ﬁﬂhhaﬂﬁihmﬁﬁmmﬁﬂﬂﬂh

fathge famesa oo fatfom mfem fag 2 7

(&) AGRMARK (B AGMARK

(C) AGPMARK (D) e B4l 58
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8. Consider the

PENCIL portal ’:jilnmzfﬂ "‘""‘}"W“H about 8, = wwn % we sh tem dwem % ()
Employment of Central t:::rr:nn[;:::mr and PENCiL T ¥ wit § fieherfis s = fmm =t |
I.It is an online platform that mims af | * 1. e Uk wiwemga wewi § fare w9

engaging the Central Government. St : HOFE, T wEn | faen, JieE aaE 3
Uovernment, District, Civil Society and :'h:. A W W I w0 g0 A A
e IR DS L
® S 5
2. This porial enables the l-'ltIZt'l:'l.Iﬂ I[‘\" . 2. a8 dda q'rr‘r-.;- C 3 'th_'ﬁ L st ~
a complaint and report incidents of Ferroeht sromeft i wnare & are am 6 S
child labour through effective tracking o) frsrga af frord ol f mam =T R
" 3::1.]! n:;.mllurmg mg::;:'imn.-g.m, (A) Fae 0 | 5 B
nly the statement 1 is correct A g
(B) Only the statement 2 is correct [F_" - A2 3 &
(C) Both the atatements | and 2 are correct 1<) gl w1 ot 2 e @
(D] None of the above R R E
9. Atypical angiosperm embryo sac, at maturity, 9. wieifE gl T & ,qf',ﬁ-;r,- v fafire
though 8-nucleate is of e Yo @
{A] 6-celled (B) 7-celled @yas (A) 6-wifimw aen (B) 7-wifi A
(C) B-celled (D) 9-celled Hﬁ (C) a-=ifir gren (D) 9-wifimw e
10. The powers of the Panchayat are listed in 10, terrae ) arfeat Frm aeiea & 7
(A) 12 Schedule (B) 11 Schedule (&) 12 9 s (B) 11 9 aesh
(C) 4* Schedule (D) 9* Schedule (C) 4 W EE

11. Namethe Statewhich succeededin theefficient | LY. 2w HeFfGH % Fi-=ra & fam 1w 3 avwem il
implementation of milk co-operatives. : @, AT |
|A) Karnataka (B} Gujarat il (B) Twm
(C) West Bengal (D} Maharastra wfram ame . o) *

132. If you start your journey on 22 June 2003, lgb'm M 22 94 2003 Ei%q:‘rﬂ"u:ﬁ CIEIRLS Eﬂ.:lh:'rﬁ, al |
what will be the day of the week afler 7 days ®\ h:ﬂ 1%“?"‘ FHAAHT & AR TR % HHE - =11 ‘Q{“-’.}
of your departure ? \<\ (A) TFEAT (B) wrwaw c:gil

(A) Saturday B) Monday '} : B : Pl
(C) Friday (D) Sunday € ® o

13. Inwhich year did Napoleon Bonapaft® crown | 13, e a9k 3 e ad = =1 v +1 wne

himself as the Emperor of France ? - e 1
(A) 1799 (B) 1802 (A) 1799 (B) 1802
(C) 1815 (D) 1804 (C) 1815 (D) 1804

14. United Nations High Commissioner for [ 14, vronfiidi feme s g ssami (g,u.va h.om. )

Refugees (UNHCR) headquarters at w1 e el § 1
A  Switzeriand (B Delhi, India ) fmn fEgede () ol wmm
(C) Rome, kaly (D) None of the above (C) T, weeh (D) 3w & & =k

1 1. 1 3 15 gl+l;,1.g]3l+ﬁ§ ?

18, 8—-+5—x13—+6=="7 BB e
3 4 5 5 1 :
1 A A 215 B) 18-
(A 213 (B) 187 f 5
C) 19= K
() 19::‘- (D) None of these Chies (D} w4 & whi Ko
GV AR N
-3- %‘ _,}f ,/’ 5
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16. A projectile can have the same range R for two . : :
angles of projection. If t, and t, be the time n": # ] |uﬁ[|m11ﬂmrﬁn AT TRE 5 r 23
flights in the two cases, then the product of B o #* =Y aqlﬂ 7t . 1
the two time of flights is proportional to ST I
. 1 B R
A o (B R W ] .
L0
C) R? () It]-f (c) R (L) o -FE. :
17. The extended observation of the social 17. Th "‘I‘.’i wmTTa - _I % iy o
perspective and cultural values of an entire % m “.ﬂﬁ # faeritn e o
socind setting 18 termed as mmt 1 4.
(A] Interpretive (B] Ethnography (A) SHTERER (Bj :].-':'i:"i"""
(C] Phenomenology (D) Narrative ic qmqg:n—ﬁ:ﬁ (D =R B
18. In a row of girls, Rita and Monika cccupy 18 HM o v of 4, fm ol Sife @ o ek
the ninth place from the right end and tenth a-ﬂtmﬂﬂzm‘l‘ e o LI
place from the left end, respectively. If they o el 81U S 3 d v
interchange their places, Rita and Monika wee ot §, At T o Wi s e o.
occupy seventeenth place from the right and el ol and & amroral @ wm b ofe s |
eighteenth place from the lefi, respectively. $ i |
How many girls are there in the row ? v ? I
(A) 25 {B) 26 di} 5 (B) 26 |
C) 27 (D) Data inadequate Qtt) 27 (D) wtw2 spz
19. A cube of volume 64 em?® is cut into t -m" 1k ETER l
smaller and identical |c'1||:-nn|rlu1 T]I-:: r;nc':: T S W S w2« v 26.
of dlm:nts.:_lml.-s_ ;1 I::l-i of one of the cuboidg{™ HIZ AT R | U A A4 ST AT T i
are pamnted with black color and the rest T 1 I B i o 3 s
| its faces are painted with yellow color. ¢ @ & tm g ot n T;ﬁ  ivihigh |
pair l‘L.'II' éld_l:_ﬂL‘;.:I!! faces that do notd - o & I?ﬁmt 4 x 4 HTHE T B9 T 1
any face of dimensions 4 = 4 of ithe wEw A T E
ﬁulmid nrf_pu.;_m:d with yellow r.'i?}ur u.n:;],r :i.ill A IS T W S @ b 27. s
1e rest of its faces are painl ith black MHT ¥a T
color. Now each of the two g 1ds are cut i ‘ﬁﬁmmﬂ'{lﬂm%lﬁﬂ ; |
into 32 smaller and identj ubes, ﬁmﬁnﬁmm“ﬂﬁm%'_ﬂ
How many of the smaller cubes have exact] o = ot T THEATH
three colored faces ? 4 qa tiﬂﬂ'!ﬂ‘ﬂw - 4 Bl i
(A) 8 (B) 16 (Al 8 (B) 16
() 14 (D) 10 : (C) 14 (D} 10 '
20. What are the parts of each s Carpel 7 werE fire :
(A} Stigma, Pedicel e ’ P ;ﬁ' I:' Hum 7 i
(B] Stigma, Petal, Tepal {{;; fﬁnn' )
21. MICR stands for 21 i
r:r Mechanical Ink Character Reader . .?,#Lim._ W W}
(B] Mechanical ink Code Reader . (A) T ¥iwe fi
(C) Magnetic Ink Character Reager (B) ¥ v wrg e
(D) Magnetic Ink Code Reader (C) ifew v Svwen frex
22. To which country did H:mdungm? ﬂ/ml .ﬁ!hﬁl'ﬂﬂ
(A) Trish (B) Germang ¥ o w7
(C) England (D) Greek @) it B) =




I

Join Telegram Group "HaryanadJobs.in"

233 A car travels a distance of 75 km
the speed of 25 km/hr. It covers the nex
25 km of its journey at the speed of 5 km
and the last 50 km of its Journey at the speed
of 25 km/hr. What is the average speed of
the car ?

(A) 40 km /hr
(C) 15 km/hr

34. Which of the allowing is not an EXPENMOnN card @
(A) Complementary meta] oxile
semiconductor (CMJ 15)

(B) Personal Computer (PC) card
HEJ Modem
D) Video card

Rt

hr

“—” 25 Lrn.-'hr
Dy 12 3 km /i

28. Sheet erosion takes place un which type
of lands after a heawvy shower and the soil
removal is not rubjl_!,' noticeable but it is
harmful since it removes the finer and more
fertile top soil ?

(A] Hilly lands (B} Coastal land
(C) Level lands D) Al of the above

26. Creation of new individuals in unicellular
organisms is by
[A) Fission (B} Fusion
IC) Sexual reproduction (D) Phylogamy

47. Select the correct mirror image of the given

figure when the mirror is placed at line AR,

" \
lﬂwmnmaE Q
B $$
iA) ROOFPAMETT {B) BOUghAWS!
IC) 13ME9EO0R D) BOOgbAWELI

The first railway steamed off in India from
Mumbai to Thane in 1853 covering @ total

N

distance of
[A) 34 kms (B) 75 kms
~[C) 78 kms (D) 53 kms
Identify the missing numbers.
o 11 13
15 17
I 12 14
Y . ?
?
22, 20 (B) 14,18
9 12, 13 (D) 18, 15
5

5.

23,

}gf’ m@ﬁﬂmﬁﬁmﬁm
w4 20

O

i
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" wn 25 fehan o ol @ 75 fash ) =0
T wH ke ah o F s o fah W

5Pl i i s e & aft s orn # sifam
50 Tl = 25 fiwdh ran oy il & 79 s} | w1

) whern rifa e b 7 P
(A) 40 Bt |\ 25 fmfpin T, 4t
L YL
(CF 15 i /i D) 12.5fh/aa X S
24, Prafafier d 9 Fi - H O T wTE o B
L. IA] Wil dom - wreeres aftses (
(#h.mm.a, o) 3
1T 'EI-FF-I’-1 wopEr () ) =
(C) =fgm
() dife =
A5, il ol % wme fes w6 sfir w findt i sl v

= 90 A R S s @ v sl 5= b, A T

rivErs @ w0t o7 wie sl afis s il &

TAR Rk
(A) el wfty (B) &9z afm ufy
(D) T welt

xf(_:_l mﬂ y

(B] HeOs

(Aﬁﬂ

éﬂhm (D) wfage
:?*’Zgﬂiumﬁlmwmnﬁﬁugﬁq
5 nﬁnﬂmismmmtl

JZH’Mgt]ﬂHE

B
(&) BOOSPAMTI

iC) 13METRO0S
28. A d weeft tem ¥ (a5 4

(B) BOOgbIWS [
(D) BOOxbIAWS]

qud & 7% =

7 et maid
(A) 34 fah (B) 75 fah
(C) 78 fah (D) 53 fah

29. 9 e ® wa wi |

A B K
5. 7
1
e ?Fh
(A) 22, 20 — [B) 14, 18
n (€ 12,13 (D) 18, 15
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240 kg of rice

30. If 40 persons consume
in 15 days, in how many days will
30 persons consume 48 kg of rice ?
1 3
(A) 6~ days (Bl 3— days
4 4
IC) 4 days (D) 9 days
31. Aa per Reserve Bank of India (RBI}, Account

Aggregalor 15 a

(A) Non-banking financial company
(B) Banking hinancial company

(C) Insurance company

(D) Credit borrower company

32. Most important ecologically relevant
environmental factor is
{A] Temperature (B) Light
IC) Water (D) Sail

In pre-independent India who was the first
to discuss the concept of a poverty line ?

\

a2 40 saf 15 fdl # 240 o wmam m g
mﬂﬁmsﬁmmhﬁﬁﬁﬁwm ;

3
A) 5% fm (B) 3=
ic) 4 f=
g1, rd &% st gfezan (st and. ) F s o
ufferos B
./ (4) Fam Fyefra it
(B) & fadfa w9h
(C) M
(D) o IUTEA F

33, w9 8 Faifas gEE w2l i,
/ wmw

{A) ATIRT (B) "=
(C) w= (D) =

33. TEeEm-Td WA A Wt A= e e

‘#@a

30,

.

D) ofe

{A) Dadabhai Naoroji S (A) T AT
{B) Gopalakrishna Gokale 60 (B) TTETEe e
(C) Vinobha Bhave "DB (C) Tt wid
(D) Vinoda Bai N (D) farfray amé
34, is a special software that e £8 3, - wihemaamidwmm s

[ users to read/view web pages
from one web page to another,
(A] Web server (B) Web\irowser
(C) Web site D) page

Jump

35. The sum of the first 20 T™ms of the series
549+ 13+17+._.. is
(A) 8OO (B) 850
IC) 860 (D} B70

A man walks from his house towards north
and covers 15,5 km and then turns left and
travels 7 km. He then turms left i
again and
after travelling 31 km again turns left and

stops aller travelling 7 km, H i
from his house 2 Riar is b

{A) 46.5 km B) 15.5 km
(C) 8.5 km D) 60.5 km
37. Aschelminthes is circular in section
hence, the name %
IC) Pinworms

‘ﬂfhﬁhtiﬂtmhﬁﬁgﬁm e b

(A) == 7 YB) ¥ FTI

(C) 7% w5z (D) 9 &=
ﬂ/ifuﬂl +9+13+17+.... % wed 20 97

wamy

(A} 800 (B) 850

(C) 860 (D) 870

36. mﬂﬁﬂﬂﬂimymh-—-i‘
ﬁﬂmls.sﬁm#'@mmﬁ.lﬁ: .
R 7 et wom R | aw o and gz 2 T

alhﬂﬁtmﬁ“mtm?ﬁ’g&d-':
N | AR R e 7 P

IA) 46.5 fah (B) 15.5 fet

(C) 8.5 (D) 60.5 fat

(A) TImad (B) et

(C) et (D) watd

?
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38. Twuo point charges exeri on each athe
F, when they are placed r distance apart i
air. Wh!:n they are placed R distance a J-|_|.1'11
in medium of dielectric conspun K tlln-\.-
exert the same force. The distanee R :::;uul:;

ra foree

| !
K

“—-'!J r\n'II{

I
(A
' &K
iC) rK

The tectonic plate Mazea' is sityaped between
(A) Central America and Pacific Plate

(B) SBouth America and Pacific Plgje

(C) Asiatic and Pacific Plate

(D) North American and South American Plate

The traffic lights at three different
road crossings change after 24 seconds,
36 seconds and 54 seconds respectively.
If they all change simultaneously at
10:15:00 AM, then at what time will they
again change simultaneously ? :
(A) 10:17:02 AM (B) 10:18:36 AM

IC) 10:16:54 AM (D) 10:22:12 AM

41. Choose the right answer, based on the
relationship given in the question.

Clasp : Bracelet
(A) Wrist : Watch (B) Cuff: Trouscrs
(C) Hook : Coat (D} Buckle : Belt

According to Comte the traditional
method of Sociology is
(A) Positivism

IC) Imperialism

Consider the following statements about
United Nations General Assembly (UNGA).
1. The United Nations General Assembly
(UNGA) is the main policy making organ
of the Organization,
2. Each of the 193 member States of the
: United Nations has an equal vote.
(A} The statement 1 is correct
B) The statement 2 is correct

&
O Ariporiign

(=

¢ Mtht statements 1 and 2 are correct
earned after selling an article for
} is the same as loss h:currcdlaﬁer
the article for Rs. 1,492. What is the

e of the article ?

CMES - 82

ﬁﬁﬁlﬂﬁﬂ%qﬂim Faageama § |sadendr
'Eﬂ‘ﬁﬁiilﬁ! | 79 34 qofaga froars K wmam
q R gl v ven wren B, @ o @ g ae wna ¥ 20

12@ R T #
& L r
A) Tk (B)
(C) rK D) K
39, Fradfwa o wdafamd
iA) e amfe o v =
(B) =fim sifm i v =
(C) witramd sft wemm =
(D) et smfeafh s 2fign s @
40. R sem-wem G wfen v Hew wme
24 BT, 36 098 ot 54 SR A W R TR A
wfl UF 779 10:15:00 AM W w== # A 3
ﬂmiﬂ&. w7
(A) 10:1@%,«” (B) 10:18:36 AM
(C). HAIN6:54 AM (D) 10:22:12 AM
i mb}d’rnﬁﬁﬁ#mmmﬂmqil
:mﬂz
(b\\\ iy o= . afa (B) W% : e
(C) ¥% : ¥ (D) o%a ; ¥z
© 42, FEF HHTETER T T
gr
(A} FETOTRERATETE (B) wfeTmaTERE
(C) HIET=gaTE (D) WrsER
43, | T e (4050 0, ) & it i Pt
Ful w R =t |

1. ® TR M)«
%ﬁ%ﬁqmt:&m T.) E9E N g
2. HYH UG ¥ 193 57w 291 & 4 velrw w5 5
ara B

(A) FUF 1 W R
(B) #4992 wf &
(C) *a 1 3 2 G4 wf) §
(D) 90rE 8 & #i 7
44, TEAG W T 1,754 F ¥y &
/ TARF, 1,402 F a3 F
) T8 e W g 7
(A) ¥. 1,589 (B) %. 1,523

Rl Iﬁnm_ e |
T TFA & g,

) (B) Rs. 1,523
(D) Rs. 1,623

lc] L3 11-539 m]‘llm
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The denominator of & rational number is
3 more than its numerator. If the nqm:mtqr
is increased by 7 and the denominator is
decreased by 2, we obtain 2. The rational

number is
1 3
(A B 3
¥ 8
. | —
(€ 10 i 11

What is viability of seeds ?
{A) Presence of temperature
(B) Excretion in seeds

(C) Respiration of seeds

(D Presence of life in seeds

61.

CMES - S2

/ ﬁmmﬂﬂﬁmﬁa-ﬂﬁnﬁ q":-
o ) 7wy e g, 3l B R 2 T A
2w dan B | wftia e 2

5

3 5
© — D & B
10 11
j},/ﬂﬁﬁm{ﬁqm}w*}
() amymr i ety
(B) et H Tt
(C) =l it g

(D) Wil # St o Fufeafa

62. Under the Criminal Procedure Code, 1973, | 63. /mfh %% wiFm wfem, 1973 % 79, -
the can pass any order to prevent ;;f"!f ﬂmmﬂﬁmiﬁwﬂ’rnﬂwm@
any miscarriage of justice or abuse of the * gowm W 0w & frg W oft amem i =
process in the Indian courts, R |
(A) District Court (B) Civil Court (A) foren wrd (B) faf= =
(C) High Court (D) Supreme Court &, == e (D) Fftm =1

63. How many cuts are required to cut a cube | 63, CJ% T M 512 gHE § e ¥ oy fp3 w7
into 512 pieces ? 560 smaraEa 7
(A) 511 003 (A) 511
(B) 70 O (B) 70
iC) 21 ‘m (C) 21

(D) Cannot be determined
Directions (Q. No. 64-66) : Study en
information carefully and answer questions
that follow

I. Six friends P, Q, R, 8, T and U are members of
a club and play a different game of Football,
Cricket, Tennis, Basketball, Badminton and
Volleyball,

IL. T who is taller than P and S plays Tennis.
lI. The tallest among them plays Basketball.
IV. The shortest among them plays Volleyball
V. Q and S neither play Volleyball nor Basketball,
VI. R plays Volleyball.
VIL T is between Q who plays Football and P in
order of height,

64. Wﬂmhu&rﬂ:mkmm
A Q
B) T
€U (D) None of these

13 T

(D) Fuifa 3 fen = wea
Pl (9. 4. 64-66) : 12 & 1 gum @ e A ofew o
et & 9 Afaw |
LefmP QR S T U W % gzm § 3in

weata, ke, 2w, andkzata, defie sih afeftata
wea g

I T P s s @ s, 2f5g dam § |
111, 396 ® waw Fa awdkzate derm
IV, 390 & w=8 B aieftaia gam )
V. Q 3l s 3 9t afelafa 3 @ andeafa d=a § )
V1. R afefrafea dem
VI T, Q 3 et weven & i p i ofrw f drd s b |
64 VHARR-miRATm v pETIR 7
A Q B T
(U (D) Wit & wif 7




Join Telegram Group "HaryanadJobs.in"




Join Telegram Group "HaryanadJobs.in"




Join Telegram Group "HaryanaJobs.in"

E.—.I

CMES -lq
B84, Cunmd:; the following statements about . m#ﬁﬁﬁnﬁﬁatﬁmmfl
1. Socialism refers t wwarETs s franl % o aqe W g
ideas that cmcrgcdﬂalﬂa :i;i.iu:: l:;:: ;t‘m;:t mm“‘m‘; # A
inequalities present in, and reproduced T AR S wfafaa
by, the industrial capitalist economy. ik
2. The main concern of Socialism is how 2. TR 1 ge fom 7w 8
to minimise EII:!I'J.‘I"IL.E inequality and m#fﬂﬂm‘ﬂ
distribute resources justly. s w1 3fam famm 4 femam |
. (A) Only the statement 1 is correct IA) Faa 1 wf @
(B) Only the statement 2 is correct (B) a2 Wit b
e T bt ey
(D) None D)
88. If with the 3, 4™, 5", 7" and 10™ letters of "% 3, 4,53 77010
the word ‘PERSONALITY’ a meaningful word iﬂu'iilu,? w8, a’nn*-m
is formed, then first letter of the word is & T”
(A) O B) T w. c. B) T
. 95 DL B o8 ) R //
86. Theterm ___ is commonly referred to the . aEEd; e R el @
. mmn:cntedtuﬂnnetwwked mﬁzﬁ!‘ilﬁﬁﬁﬁﬂmil
W : frimfernet (A) ‘Ao (B) HT@rH
(B) Onli R
(D) Em:;:r %TF (D) T
Kohima :l;:migur:? % w‘_‘;:ﬂ'ﬂﬂﬁﬂ!ﬂmm |
(D) Guwahati @“\(b () mi:ﬂ B D) !:l::a- “
is also called as R — L .
(B) Main \8\4 (A) wrged Feh (B) B4 HHr
y (C) TREEA AR (D) e
iﬂm mmmm iliuitil
' Fael w fEm 3
in 1. iiﬂﬂﬂm%mﬁiﬂh
and | ﬂﬂf!m m 1 sl g
& not . _,:L“ # fa T 9§ s I T a.
"V a :.- RIS - L . 'Wim
3 i li?' i ot - 3 -'J_h il {0 il
it ) NI N :‘[H

< =

: ITLTE -
£k
wu
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